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Find the volume of the solid of revolution formed when the given section of the curve is rotated
about the x-axis:

QuesTtion 1

a y=x*between x=1and x=3 b y=\/;between’x=0andx=4

c y=%x+1betweenx=2andx=6
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QuesTion 1 Find the volume of the solid of revolution formed when the given section of the curve is rotated
about the x-axis:

a y=xbetweenx=0and x=1

14

b y=x"- 4x between x = 0 and x = 4 ¢ y=+9-x? between x=-3 and x = 3
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Volume (3) Peee ™
QuesTion 1 Find the volume when the given section of the curve is rotated about the y-axis:
a y=x*betweeny=1andy=3 b y=xbetweeny=2andy=4
VA YA
y=x 4
@3 S -
T e
. N y=x
0 X >
0 X

QuesTion 2 The diagram shows a sketch of the curve y = \/;

a Find an expression for x* in terms of y ' T

y=x

A
x

b Find the volume when the section of the curve between y = 1 and y = 4 is rotated about the y-axis.
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